Pre-Calculus Name: K E \
Unit 7 Review

Remember to study your notes, old homework, and your quiz.

Use the following information for #1-4. 1
f(x)=x*=10x+7 g(x)=x"-4x-13 c
Find f(x + 1) 2. find g(-4) 3. F' nd f(2) 4. Find g(a)
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Write the equation of the line that is the pe endicular bisector o
the line segment containing the points (6, 2) an ( -1, 5).
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For #6-7, describe the transformations of the graph from /(x)=x’ Y X :_j.,""
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Use the following function for # 8-11. 1
f(x)=3x"-5 g(x)=x"-4 h(x)=>—
Write the following functions in simp.li_ﬁe_d form. 2y
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18. Find the slope of the line containing (7, -7) and (4, -2) Z
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19. Find the slope and y-intercept of 3x -2y = 10
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#20-21: Write the answer in slope-intercept form:
20. Equation of the line with slope 2/3 containing the point (-3,4)
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21. Horizontal line through (4,@ i "4
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22. What is the slope of a...
A. horizontal line?
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28. f(x)=x? +16x 12 b-—-llﬂ("i)zg. A(x)=-2x*-12x-12 [%)\* 30, y=-3x* -24x-41 (3)?
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(X+8)*-F( -2(x13)“+ 0 -3(xt4)? 437
vertex: (-8-30)  vertex: (3,0)  vorter: (-4#)
AvS: x=-8 A0S X=-3 AoS: %= -4

Using the discriminant, list the number of real solutions bz-— Yac

31. 3x* -5x+1=0 33. g(x) = x* +6x

PYSITIVE WO POSITIVE WO
32. 3x*-8x+8=0 - - 34, r(x)=x2+x+1
NEGATINE  NON E neapmve NONE

#35-36: Sketch a graph of the following piecewise functions.

121—2, x>1 xz
-x*+1, -2<x51 36. f(x);‘{ Sl
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